Best model for HELP J172439.260+593706.666 at z = 1.036 x2=1.16
OPTx2=1.24 IRx?=1.54 threshold (OPT IR)=16.29 [um]

102 3 Stellar attenuated
5 Stellar unattenuated
] —— Dust emission
—— AGN emission
1
10 = Model spectrum
f ® Model fluxes
E M oObserved fluxes
100 -
> ]
€ ]
— -1
=) ] ‘n’r’"f’“”
L _'\Ysa‘r}"""'h'r“‘
1072 3
10—3 _
bad
=
Ho01
© 1 =f= (Obs-Mod)/Obs
3 ]
S ]
s ]
] o e —— —Eremple] N e o ——— s ol ] —————————————————
hat ]
) ]
2 ]
S ]
r_u—]_ T many — T — Ty T
o 10° 10! 10° 103 10 10

Observed wavelength [um]



